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p.25 Theorem 2 should be changed into the following :

Theorem 2. (6 > 0,63 =0) Let 63 > 0 and 3 = 0 in (0.1). Suppose that a > 3
and

E(0)<0 and G(0)=(—E(0))“ + 2wmy*(uo,u1) >0.
Then there ezists a T such that
0< T < memw(l —w) 1G(0)~A-w)/w

and the local solution u(t) in the sense of Theorem I blows up at the finite time T, where
w,mg, and my are positive constants such that

1 1
B+2 oa+2
mo = (285(1 + 2/)|Q 557 (= E(0))~ (A=) 1/(B+1) |

my = 2max{1, (4(e +2)/a){(2IRTFTmg ) T (~ B(0)) ¢ T

) (1/2<w< 1),

+ (6 |Q‘:%’rilo_l)l/w(—E(O))"(l“U(:Tﬂ)} .

p.26 | 18 ~ p.27 | 6 The proof of Theorem 2 should be changed into the following :
Claim B. If E(0) < 0 and o > f3, then '
(2.6) G)'Y <m H(t).
Indeed, Since |(uv',u)| < Ba||u'||||u||a+2 with B; = |Q|2T:Tﬂ, we have that
G(t)'/¥ < 2{(—E(t)) + (mg ' [P'(t))"/*}
< 2{(=E()) + (2Bom o' (Olllu(t)lasz + 6 Bymg u(t)l|542)"“}
< 2{(=E(t)) + 2w ()]? + 2(2Bymg fu(®)l|asz)? 2
+ 2(8 B3mg ) a3
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where we used the Young inequality. Moreover, since 2/w < 2/(2w — 1) < & + 2 and
(=E0)" D lu(t)larz > 1 i E(0) <0
(see (2.2)), we observe that

G(O)'* < 2{(=E(t)) + 2l (¢)])”

+2(2Bymy ") =T (— B(0)) 4wt ||u() | 22
+2(61 BFmy )M (— E(0)) O~ mm@ ) |lu(t))| 212},

and hence, we obtain (2.6).
p-40 | 11 “bounded” — “non-increasing”

p.41 | 6 ~ | 18 The proof of Theorem 9 should be changed into the following :
To proceed the estimation of (5.27), we observe from (1.6) and (5.2) that

162(9("), w)| < &p|lullpaallu’|[5
< Scu| AV 2wl )5F) ) B < 4/(N -2)

B+2>
= by¢.]| A/ u 75| A2 7 o 5
< brcu(du B(0)) T [l || 541 AL/ 20| 7
ﬁ—}-l 773I3¢_5 B+2 1/2,.)12
< G (2ca(doE(0))" 2)ﬂ+tuullﬂ+2+2(ﬂ +2)IIA ul
< (262c0da) 7 ||| 512 + (1/4))| AV 2u?,

and hence, from 2K (u) > ||A/2u]|?,
OE"(t) < —2(61 + ¢ %63 — €)W/ (1)]1* = (/2)| A" Pu(t))?

B+2 )
— (262 — e(28pe.d. ) 71 ) Ju' (1)1 515

(5.31) < =(e/2)(Ilw' (M1 + 14 2u())®),

where we used (5.15) and we put

e = min{(6; + ¢263)/2, 26,(265¢,dy) " FH | (2d,(cy + c26; + 85))1) .



